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But he did not pull — TR XY R

OVERVIEW

n"awa pnx® "M said in the name of 27 that when our 71wn ruled that 71» 10 XA
7N NKRY 1IN N n99Y is only in a case where the money was piled and present.
The X7m3 challenged this and asked ‘but the 5w did not make a 72°wn’ on this
money (until the benefactor died), so how can he acquire the money on behalf of
the recipient. 19010 explains why we cannot answer this question based on the rule
of N "7 0»pP% Mxn.

nooIN asks:
= 7N a9 ﬂ”‘pb TN (%0 97 199Y) 15 NP NN 7299 'NND NN

It is astounding! What does the X3 ask, “Jwn X? X7; but we have an

established rule that it is a /%" to fulfill the words of the deceased -
- 9N 2927 DMPY MEN DIYN X293 PIINN Y )9 BN

Therefore let us establish our mw» in the case of a healthy benefactor and the
reason it is to be given to the recipient 7n TnKX? (even though no 1P was made), is
because n%7 927 2»p% mxn?!

Mo0IN answers:
= 10N 2937 0PY MNN INY DY NN 229N 153959 DraNT 1999 90 v

And one can say; since the 232517 argue on »''1 and they do not maintain 3%
DT MaT 2MPY, so -

— ANTIND PIINN MPINY 292 KY 99N 2293 )9 NPT 23 Y 9N
Even though we uphold the ruling of "9 that N >727 0»p% MX¥n, nonetheless the
X3 did not want to establish our ;71w according to a single individual (»™) —

mooin offers a corollary:
— 9NT 20 2290 INTIN’D 21’5‘\’)5‘\}: ININY PN RIT (x5 mpy) VIN DI P93 INOUNTD

As we find in w7 %> pap that >X2 did not want to establish the aw» there

! See the X3 there on R,0.

? The mawn there states that one may lend money to a 113, etc., with the understanding that instead of giving the 32
770, he will withhold the 7170 as payment for the loan until it is paid up, w"»y. The X713 there asks, ‘but the 77
never received it’, so how can it be considered as belonging to the 372 (so that it is considered payment for the loan),
etc. 2X1MWw offered one answer. X7 answered (differently) that the 7awn is according to "0 "1 who maintains Wy
19710 7197 1°XWw; the 0°non (who wanted people to lend money to 2°17, etc.) ordained that it is considered as if the 77
acquired the 7270 (and it can be deducted from the loan). The X713 explains that 2Xww did not use the answer of
X?W since 1PN XY ORI,
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according to an individual, namely 0% '3 who maintains that-
—>n5nN5 YNNIV 920 (8,20 97) NYINN NAQT NNP P9927 2) DY GN NI NI IINY WY

The o101 ‘made one who cannot acquire as if he can acquire’, even though

that in the first p22 of »"'2 noon, we find that ®X1»w agrees with "', but since he is
a X7, we do not establish the 71wn according to his view, and the same applies here.

moon offers an alternate answer:
e L nRarsi ﬂ”‘pb MSNT OIVN PHNINN MIPIND 81 NDT 9999 ¥ NV

And in addition one can say; that the X723 could not establish the reason of our
IR on account of N7 5927 2YPY MR -

— %5133 199928 PR IT99N 19912Y KON SN 19 ONT
For if indeed that was the reason then, why does 27 state that the 7I1wn is in a case

of P2, even if it was not 1>12%, we should also be required to give it to the intended
recipient since N7 °727 27P7 M¥N -
- “mbyaa 1959 TV 29Y DYDY MM SN 12D

For the X773 maintains that "121 2°p% 2% is applicable even by a mbn» —
— Sw9 N9 7Nap MY 1PUMN XY N2

Since by a X"12 we are not concerned for a ‘buried 7%’, since he did not
specify that he is referring to a M2ap 7.

nooIn asks:
— 199138 PPN ID2AN NNN 9927 OPY MINNT DIVN RNPIYT SWHIN 191) 29D 5NN ON)

And if you will say; so let us ask on 39 himself; let him establish the mwn»

because of n»:7 5127 299p% mM3» and we are discussing even if it is not 9123?! Why
did 27 rule that the 71wn is only by 7M2%?!

%501 "1 rules there in a X012 that if one hires a sharecropper for harvesting, the worker’s minor son may gather the
gleanings (even though the father is a partial owner who is prohibited from taking the gleanings even if he is poor).
The X n3 explains that the 0°non ordained that the child (who ordinarily cannot be 7277 for himself, only for his
father) can be ;1271 for himself. 7X1W rules that the 737 is 01 "2.

* Therefore we must assume that (at least) 27 maintains that the reason we give it is not associated with "2 2*p% mxn.
See forthwith (see footnote # 9) why indeed 21 did not establish the m1wn because of o»ph mxn.

> moown adds this lest we argue that 7"7 2>p% mun is only by 11799 [or by 7t 7], therefore Moo points out that by
X2 there is no concern for M2p 77,

6 "w1 amends this to read: ono ma.

7 See the x7»3 later on this 71y that by a »">w if he did not say 71 7 but [ano] m, we are concerned maybe he
‘buried’ a 1111 somewhere and he means to give this buried i1, but not from his ‘revealed’ estate.

¥ See following n°x 71"7 'oIn that the concern of 712p 7» applies only to a »"2w since he is distraught and therefore
forgot to mention that he means the 712p 711. However by a X172 who has all his faculties intact, we assume that if
his intention was for a 713p 111 he would have specified and since he did not there is no concern of M2p [,

? This question is (seemingly only) on the second answer of Mo See footnote # 4.
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MO0 answers:
= Y977 %299 NYN 9N 2299 NY 930 XY 297 999 v

And one can say that 27 does not agree with %"= (that N7 °727 2»p% M¥n), but

rather he agrees with v''9 -
— Y019 795 913 (3,00 97 mana) NYNN NNIYN P93 INMY PI0OT

Like X812 who also ruled like ' in 7@K nRYs» poo.

mooin offers an alternate answer (to the original question):
— NN 927 OPY NINM 19PN NDT DN 13929 Y9I TV

And furthermore explains the n'= that we do not maintain n»: 5927 29p% mxn-
- WYY A 795 NYNHN YIVINY 9373 NN

Unless it was placed in escrow initially for that purpose by a third party -
- (ow) 179329 YDW 931 (3,00 47 0wy INAY MYN YIYWNAT N0

Similar to the case of ‘one who deposits in escrow money for his daughter’, or

the case of ‘give a »pw for my son’" -

- 531995 A1 7319 930 23N XY NYNNHN 799 YHYIN NYY ¥AYUM PNINNIY
However in our mwn» it seems that the money was not placed in escrow
initially for this purpose (of giving the money to the intended recipient), since it

does not say in the m1wn, ‘give this 773, but rather 731 110, omitting the 'ar'.">

Mmoo anticipates a difficulty:
= 191 927 ©PY NINN NDY 12IINT IPTT 9199Y NI THNY MT XD

And the case of 17959 77 110 in our 7Iwn is not similar to the case later where he

' The mawn there cites a case where a father set aside a sum of money for his daughter’s benefit by a third party with
instructions on how to spend the money. The father dies and the daughter marries. The daughter wants that her
husband should receive the money and he will spend it as she wishes. "7 maintains that the money should remain
by the third party and spent as the deceased father instructed since n»i >127 0% 7%, while *"1 maintains we listen
to the daughter; indicating that there is no N7 >127 2»p% M.

' See previous footnote # 10.

"2 The case there is when someone said, ‘give my son an allowance of no more than one Pw per week’, and he died.
The rule is that we do not give him more than one %pw from the estate even if the cost of living requires more than a
Spw. The X3 there says that this ruling follows the view of n'"9 that n77 >127 0»p% M¥A.

" In both these the money was deposited in escrow for a specific purpose; it is only then that (even) n"1 maintains
nna 27 0Pk M. See “Thinking it over’.

'* See previous 1n 7" KA 7"7 Moo, If the mxwn would have written 7t 73 1N, this would indicate that he is
giving the 5w this 7111 initially for a specific purpose to give it to the intended recipient, then the rule of ap% mxn
nna 2127 would apply; however since it does not say 11, this indicates that he asked the w*%w to disburse the funds
that the w"5w already had. See following footnote # 15.

' The actual case of the mwn according to 27 (and 7ar 27) is when the monies are 1128, which indicates the money
is present. However it is 7 112% in the possession of the v2w, and was not deposited there by the benefactor initially
to be given to the recipient, but rather to be held in custody for the owner (or as a loan), therefore the rule of mxn
o*pY is not applicable, but rather we need the rule of JNWHw TR (see "W " ,[718A] X"wan and »"n1).
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said, ‘bring a "17%5% m1%°, where the X3 rules concerning that case 71" 7% m3n -
— % NI NDT ) DY 9N

Even though the 8>3 does not mention ;712!

modIN responds; the two expressions 77171 and 11N are different:
- 17‘[’51115 AYY NMIND IV 99IMY DT XY 929V yRwn 11095 N 79N

For when saying "3795% ;11 1977, even without 7 it genuinely implies that he is

giving the m°5w the money at that moment to bring it to the recipient; 77177 implies the

current transfer of funds -
=999 NN NNaN N

More than when he says "23%95% 772% 310" without "1, where it does not imply at all that
there is a current transfer of funds. Therefore we do not say 11"721 by 712 1n.

mooin offers proof that 71"79% is only when it was initially deposited for this purpose:
- 15N919) 905N 533 (x,01p 47 NN Na2) DNDY N 7992 yNYN 199

And it also seems so in n»w » P9p regarding MoK the 93 -
= N29D PPONY M1} 29N 109N NNN 93T 0P NINHT NNPYL N3 1NN NN NYT

Where the concept of :1'"79» would not be effective regarding the twelve

thousand 17 which 710°X deposited by X29; the reason (seemingly) is -
- %91 299 BRNY AYNNN 1PV XYY 2aY

Because they were not deposited initially by X237 in order to give them to 3% 29,
This proves that 7"79% is only when it was initially deposited for this specific purpose.

mooIn questions the validity of this proof:
- ININN YWITYNYI NIN 11 2927 0©PY NINN 13999N KD NIYT PINT U

And it is possible, albeit with difficulty, to refute this proof, that perhaps we do

not say 71""79» only when the w>>w agrees to transfer the funds [and even in a case
where it was not 799 12102 wOUI] -

— 799 WYY NPAY NON NN NY XA
However, 827 did not want to be a w>>w for this purpose to transfer the money to 27
", therefore we cannot use the concept of 7"77n.

' This contradicts that which n9on just stated that without 711, we do not say 7"7%n.

' The word 7271 implies that he is being given something now to bring it to the recipient.

' 939°% was a 73 and his son ™ 271 was conceived before 110X converted, making *» 27 ineligible to inherit his
father 110°R. Previously m10°X deposited twelve thousand 17 by 27, which 710°X wanted to transfer to his son % 27
(since Mo°X was dying). X271 was hoping to retain the money for himself after 110°k died (since MR was a 17 X
ow7r), and he was saying that MOX is not able to transfer the money to "1 27 legally. Seemingly X271 should be
required to give the money to >» 27 (after s™Mo°X death) since 7"77n!
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mooin offers an additional refutation to the proof from X71°3 0°K:
— 511 927 0»PY NIM 1IN XD 9)2T DN 13529 N NI

And furthermore says the n''1 that by a 23 we do not say 77" 792 -
— 1P IN91T PNNINN ININND INT DA KDY HININ 19927 DPY MNN NYWIA NININT DY

For wherever the concept of inheritance applies, then it is a 7713% to fulfill the
words of the bequeathed since his power did not cease from that money, for

they inherit it because of him the v -
— 19937 DYDY 7SN PN 1NN N PO NYWITdA 1YNPYT ) YaN

However by a 23 where there is no inheritance and his power over his money
ceases, there is no mx3» to fulfill his wishes.

mooin offers a proof that a 7 is different (regarding n1"79n):
:9979 Yy 259Y NINNa NONON DY MIIPRT Y51 Onn 1999N NIV OND D)

And the X713 there says something similar that by whomever there is 7219
there is the concept of »'"'>w ninn, etc.

SUMMARY

We do not establish the miwn because of nna 127 2°°p% MXN, because it is the
opinion of a 7n° (even though it is the 15%1), and 21 disagrees with this ruling.
Alternately we say 11"7%% only when it was initially deposited for this purpose.

THINKING IT OVER
Why do we differentiate, regarding n»i7 *127 07p% mun,”’ whether it was w9
795 2°nnn, or not?*!

' When a n">w (a deathly ill person) makes it known that he wishes to grant money, no further 117 is necessary. X1
said that 710°R cannot grant *7» 17 the money through »">w ninn since there is no concept of w17 by X717 MoK (he
has no heirs). Similarly m»01n understands that just like there is no »">w ninn by a 71 since he is not 717 N7N3,
therefore there is also no 71"7%n by a <. That is why X217 was not obligated n»7 127 2P, but not (necessarily)
because it was not 727 72°1nn WHWI.

% See footnote # 13.

! See (X9% 71"72) "M
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